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u R 9 1 2 3 4 5 6 7 8 9 10 11 12
sursuu2ek URUS ULusnrae X - - 8,051.9 - - 8,051.9 - - 8,051.9 - - 8,051.9
2000000]1, CLEAUSHY BLUUNRSLER X - | - 41,904.8 - - 95,285.9 - - 148,166.9 - N 211,650.2
(;nnn 2112000+wnnn 2113000)
in milond
2112000]2. MUTSNLULUL HuvUusLNNr<Ler X - - 41,904.8 - - 94,285.9 - - 146,666.9 - - 209,524.2
nnha’ '
211230012.3. Llipphl upuginnbuiljut ppuduptinphtubn' upugywd X - - 41,904.8 - - 94,285.9 - - 146,666.9 - - 209,524.2
Linuglgnets o dudiooniulibiinha i
2112310[2.3.1. pupwghly Ubppht wupnbuilul grudwstnphbbp 733100 : : 41,904.8 - = 94,285.9 = - 146,666.9 2 = 209,524.2
unwgywd Gunwwpdw wy dwlwpnuwlubphg, wn ey’
211231 2.3.1.1. wbnwlyw pynigkihg, X - - 41,904.8 - - 94,285.9 - - 146,666.9 - - 209,524.2
unn ednnt
2112312|2.3.1.1.1. wtnnupjuwt Ynndhg wuwndhputjdws duiuutiph x - - 41,904.8 - - 94,2859 - - 146,666.9 - - 209,524.2
thnhihinnianng
2113000|3. U3L t4LUUNRSLEP X - - - - - 1,000.0 - - 1,500.0 - - 2,126.0
nnha'
2113200]3.2. bludnunubip wwpwtiptbiph dwnwlwpwpnuhg b X - - - - - 1,000.0 - - 1,500.0 - - 2,126.0
dunuiniamititiinh dupnnianitha
2113210(3.2.1. bywdnuntbip wwypwtptbiph dwinwlwpwpnaihg b 742100 - - - - 1,000.0 - - 1.500.0 - - 2,126.0
Sunupnuainitiibnh Sunnniannfha
1000000(1l, CLHUIUELL TUULP X - - 46,552.2 - - 101,303.3 - - 156,198.8 - - 219,702.1
(1inn 1100000+ winn 4000000)
unn milanf
1100000|U. CLRUSPY DUULP X - - 46,352.2 - - 101,103.3 - - 155,998.8 - - 219,502.1
(innn 1110000+ wnn 1120000 + winp 1140000 +wnn
1150000+ wnnn 1160000+1nnn 1170000)
vnn rilont
1110000|1. UShUSULLh dUrUSMrNE3NKL X - - 28,932.0 - - 72,330.0 - - 115,728.0 - - 173,592.0
(1nnn 1111000+ wninn 1112000+wmnn 1113000 +innn
1115000.+wnn 1116000)
vun ilnnd
111000] - Ugluwinnnutiph wohiuwnwdwpdbip U hwtjwdGuptbn 411100 = - 28,932.0 = - 72.330.0 = = 115.728.0 - = 173,592.0
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40012, TUNUSNRIBNRLLLNh B4 UMPULLLEPh X - - 2,500.0 4,420.0 6,984.5 - - 7,564.5
ALMLPEN N
(innn 1121000+ ninn 1122000 + winn 1123000+ winn
1124000+ wninn 1125000+ winn 1126000)
\\\\\ vl
- 1121000 | 2.1. Cwpnibwlulyurl Swhiukp X - - 630.0 1,110.0 1,815.0 - - 2,165.0
1121200] - Eubpabinhly Swnuynipintiubn 421200 - - 175.0 200.0 350.0 - 350.0
1121300/ - Yndniiwg dwnuyniginiulbip 421300 e - 5.0 10.0 15.0 - 15.0
1121400| - Ywuwh dwnwynipiniiibn 421400 - - 200.0 300.0 500.0 - - 500.0
1121500| - Uwwhnywanpuilw Swiuubp 421500 250.0 600.0 950.0 - - 1.300.0
1122000 | 2.2. Dwnwinnuiljust gnpdmnnidbbph qény dupuubp X - - 100.0 400.0 700.0 - 900.0
1122100] - Lpphu gnpdninnuiutin 422100 - - 100.0 400.0 700.0 - 900.0
1123000 | 2.3. Muydwtnugpuihl wy Sunwnipntibbipf dbnppbpnuf X - 270.0 410.0 600.0 - - 630.0
1123200] - Cwdwilwngswihl dwnuympiniitbin 423200 = - 200.0 200.0 200.0 - - 200.0
1123800 - Cunhwbinip punyph wi Swnunipiniitibn 423900 - 70.0 210.0 400.0 - - 430.0
1126000 |2.6. Unipbip (unypustiplitn) x 2 B 1,500.0 2,500.0 3,869.5 5 3 3,869.5
1126400| - Spwhuwnpuinwihl Uinwakin 426400 1,500.0 2,500.0 3.869.5 - 3.869.5
1170000|7. USL OUlUGP x - - 14,920.2 24,353.3 33,286.3 - - 38,345.6
win runud’
1172000 | 7.2. <wplbip, upwpipunpp JSupttp b inydlip, npnbip X - 14,920.2 24,203.3 33,086.3 - - 38,145.6
Ywnwnupdul pupplp Gwipwpnulbbph Lnndhg 5
Lihn, o
1172200] - Uy hwplbn 482200 - - 14,900.2 241733 33,046.3 - - 38,105.6
1172300] - Nwpunwnhp Y6uwptbp 482300 - - 20.0 30.0 40.0 - 40.0
1176000 |7.6. Uy supuutin x : 2 150.0 200.0 = 200.0
1176100] - Uy dwpaubip 486100 5 - 150.0 200.0 - - 200.0
4000000 (P, N2 HSPLULULLUL U4ShYLLP X - - 200.0 200.0 200.0 - - 200.0
(nnnn 1200000 + 1300000)
o ailond
1200000| PU. N2 HSHLULUULUL ULShULEPD Q004 DUuULR X - - 200.0 200.0 200.0 - - 200.0
wyry pund’
1210000 | 1. <PULULUL upN3sLEr X - 200.0 200.0 200.0 - - 200.0
nnha’
1216000 - Uy dapbbwubp W uwippuinpnidubin 512900 200.0 200.0 200.0 - 200.0
3000000 1. CLHWUBLE HUUULUL Ub2NSLELh H55h8hS X - - 4,647.4 6,017.4 8,031.9 - - 8,051.9
(CUdbLNRCY
{1nnn 1000000 - wnnn 20000001
5000000{1Y. HHPShSh HhLULUUYNLU UL UAPSNRPLEPD - - 4,647.4 6,017.4 8,031.9 - - 8,051.9
5124000 | 2.4. Yuqiwlbpuymiput Epbph Shtatuudnpdatt x = g 4,647.4 6,017.4 8,031.9 3 5 8,051.9
mnndnn wrwnpbuliaph dhonatibn
5125000 | 2.5. bwquwlbpuyniput hupdhg (wquig dugnpy) x - - - - = - - =
hwdungunpuuuul pinigl hnfuwbigyng dhongtbip,
unn silnnf’
5125100]2.5.1. whnwlwl pinigk X - - -
5125200{2.5 2. hwduntipliph pinigktibin X =
5126000 | 2.6. <wpdbpne dwdwbwluppoutingd Lwqdwlbpuniput X - (3,404.5) (2,034.5) (20.0) - - -
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